O XX SaEX MFUHF(EE, FAHEEX)

HHAEEX|(He14, 45, 46)

AH XI5 RS

NEPAES & g4 - 6201 952.8 4,610,000 | 4,392,408,000 70% 210% 3 2o | Hs2"= AIZIts
INEEPAES &85 -2 6200-7 970.1 5,700,000 | 5,529,570,000 70% 500% 7 et | Hs2"= AIZIts
A=A+ g5 -3 6200-6 970.2 5,700,000 | 5,530,140,000 70% 500% 7 2ot | Hs2"= AIZIts
INE=EPNES g5 -4 6200-5 873.4 5,810,000 | 5,074,454,000 70% 500% 7 2oty | UHs2"= AI8Its
A=A+ g5 -5 6200-4 873.5 5,990,000 | 5,232,265,000 70% 500% 7 2oty | UHs2"= AI8Its
A=A+ g5 -6 6200-3 970.3 5,810,000 | 5,637,443,000 70% 500% 7 2oty | UHs2e= AI8Its
A=A+ g5 —7 6200-2 970.1 5,810,000 | 5,636,281,000 70% 500% 7 2oty | UHs2e= AI8IJts
A=A+ &6 -1 6199 1,017.1 7,970,000 | 8,106,287,000 70% 700% 10 2eta gy | Us2e= AI8Idts
INE=PAES &6 -2 6199-1 1,017.0 7,820,000 | 7,952,940,000 70% 700% 10 LEAHIE | UHz2E=: MEIts
INE=PNES a6 -3 6199-2 1,017.2 7,820,000 | 7,954,504,000 70% 700% 10 LEAAT S | HS2EF: AIZIts
X=X = a6 -4 6199-3 1,017.0 7,820,000 | 7,952,940,000 70% 700% 10 UBAAXSE | HS2EHZ AMEItsS
X=X = a6 -5 6199-4 891.0 7,970,000 | 7,101,270,000 70% 700% 10 UBAAXSE | HS2EHZ MEIsS
IR (F5)

A X7 s EHXH r SHOHR/m) EXNAEILS A

INEEPAES =5 - 6194 3,347.4 3,590,000 | 12,017,166,000 80% 560% 7 UBHAAXS | Hs2HZ= AMEItsS




